
1. Scones with 5/12 of a pound of butter and 1/12 of a pound of sugar. How much more butter 

than sugar was used? 

A. 1/2 

B. 1/3 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



You are right! Go to next. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



You are wrong! Try again. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



2. Gabrielle and her sister went together to get haircuts. Gabrielle got 5/12 of an inch cut off 

and her sister got 3/12 of an inch cut off. Compared to her sister, how much more hair did 

Gabrielle get taken off? 

A. 1/2 

B. 1/6 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



You are right! Go to next. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



You are wrong! Try again. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



3. At the neighborhood block party, Bryce served 9/10 of a gallon of hot chocolate and 1/10 of 

a gallon of apple cider. How much more hot chocolate than apple cider did Bryce serve? 

A. 4/5 

B. 2/5 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



You are right! Go to next. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



You are wrong! Try again. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



4. Alvin and his friend are working together on a group homework assignment. Alvin has 

completed 5/12 of the problems and his friend has completed another 3/12 of them. What 

fraction of the problems had Alvin completed more than her friend? 

A. 1/4 

B. 1/6 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



You are right! Go to next. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



You are wrong! Try again. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



5. When Raymond had one cat, he needed to serve 5/12 of a can of cat food each day. Now 

that Raymond has adopted a second cat, he needs to serve a total of 7/12 of a can each day. 

How much extra food is needed to feed the second cat? 

A.  1/6 

B.  1/2 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



You are right!  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



You are wrong! Try again. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


